
√
cos(π(x2 + y2)) D(f) = {(x, y) ∈ R2 : 4k−1

2 ≤ x2 + y2 ≤ 4k+1
2 , k ≥ 1} ∪ {(x, y) : x2 + y2 ≤ 1

2}

√
x2 − y2 D(f) = {(x, y) ∈ R2 : −|x| ≤ y ≤ |x|}

arcsin(x2 + y2 − 2) D(f) = {(x, y) ∈ R2 : 1 ≤ x2 + y2 ≤ 3}

1√
1−xy

D(f) = {(x, y) ∈ R2 : xy < 1}

lim(x,y)→(2,3) 19x2 + 6y − 66 28

lim(x,y)→(1,1)
x−y

x2−y2

1
2

lim(x,y)→(2,−2)
x2−y2

x3+y3

1
3

lim(x,y)→(0,0)

√
9−xy−3

xy

− 1
6

lim(x,y)→(4,4)
y2−xy√
y−√x

16

lim(x,y)→(1,1)
xy−x−2y+2

1−y

1

lim(x,y)→(3,4)
y−x−1√
x+1−√y

−4

lim(x,y)→(0,0)(x2 + y2) cos 1
xy

0

lim(x,y)→(0,0)
sin(x4+y4)

x4+y4
1

lim()x,y)→(0,0)
x+y
x−y

Neexistuje

lim(x,y)→(3,3)
x+y
x−y

Neexistuje

lim(x,y)→(0,0)
y2

y2+x4
Neexistuje

f(x, y) = (sin2 x− 3 cos2 y)19
∂f
∂x = 19(sin2 x− 3 cos2 y)18 sin 2x, ∂f

∂y = 57(sin2 x− 3 cos2 y)18 sin 2x

f(x, y) =
√

x(3y3 − x2)
∂f
∂x = 3

2
y3−x2√

x(3y3−x2)
, ∂f

∂y = 9
2

√
xy2√

3y3−x2

f(x, y) = arctg x−y
1+xy

∂f
∂x = 1

1+x2 , ∂f
∂y = − 1

1+y2

f(x, y) = arcsin
√

x−y
x+y

∂f
∂x = 1√

2
· 1√

x−y
·
√

y

x+y , ∂f
∂y = − 1√

2y
· 1√

x−y
· x

x+y

f(x, y, z) = x
y + y

z − z
x

∂f
∂x = 1

y + z
x2 , ∂f

∂y = − x
y2 + 1

z , ∂f
∂z = − y

z2 − 1
x

f(x, y, z) = 1√
x2+y2+z2

∂f
∂x = − x

(x2+y2+z2)
3
2
, ∂f

∂y = − y

(x2+y2+z2)
3
2
, ∂f

∂z = − z

(x2+y2+z2)
3
2

f(x, y, z) =
√

y cos z + x sin z
∂f
∂x = 1

2
sin z√

y cos z+x sin z
, ∂f

∂y = 1
2

cos z√
y cos z+x sin z

, ∂f
∂z = 1

2
x cos z−y sin z√
y cos z+x sin z

1


